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LD Unit 5: Percentages, Lesson 3

Percentage of ©

) Find 1% of each number.

a Th[H][T[O] 9 Th[H][T ][O
Whole 7Tolo whote [T,
‘amount amount
1% of 1% of
whole whole
‘amount amount

b) Th[H]T]O]| ¥ Th]H[ T [O[+]Tth |Hth
Whole olello Whole AB
amount amount
1% of 1% of
whole whole .
amount amount

€) Wotch the calculotions and complete the missing answers.

1 of300=() +0f3,000 = 300

H|T|O
10%of3.000=(_] :Vy:sfm 3|00
& of whole 3]0
— amount
wof30=(__ )
— 30+100=03

10%of300=(__) 300:100=3
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Unit 8: Percentages, Lesson 3

©) Amelia has a jar of 1200 marbles. 1% are Green Goblins, and 3% are
Sapphire Specials.

How many of each type are there?

a) I%of\.ZOO:C] h)Du:D
There are () Green Goblins. 3% of 1200=(__)

There are C] Sapphire Specials.

O complete the percentages
@) 100% is £1,500. b) 100% is 150 m. ) 100%is 15 kg.

o%ise ] 10%is(__Jm. 10%is(__ Jkg

I%wst. \%lsC]m. |%\5C]g.
wise[ ). 2% Jm. wis(__Jo
B%WED 3%|s:m e%\s[:]g

© Work out the percentages and order the answers from least to greatest

(2% of 600 | [ 10% ot 56 | [ 35 of 250 | 25% of 18 ] { 1% of 550 | [ 7% of 100 |

J

ot () () (0 (0 (] () sreatest
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Unit 5: Percentages, Lesson 3

© o Do you agree with Reena? Explain your answer.

I think 3% of 200 must
be equal to 2% of 300.

b) Explore other examples like this. Explain what you notice and
write a statement of your own.

Draw a diagram and explain how to find 3% of any number.
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Percentage of @

© colculote these percentages

£400
a) 30% of £400 = £ . |

\
—

b) swm«oog:[:]g

9 ao%ofsoom=(_ Jm ([ []] [1T)

& 75%of 60=£( ) Whole is

€ Toshi plants 240 tulip bulbs. 10% are red tulips and 5% are yellow.
The rest are pink. How many of each colour are there?

There are () red tulips.
There are C] yellow tulips
There are C] pink tulips.
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Unit 8: Percentages, Lesson 4

© o) Complete these percentages.
s0%of700=(_ ] 10%of700=(_ ] mofr00=(_ ]

b) Now find these percentages of 700.

O 32500 people signed up to run a marathon.
119% dropped out before race day. 24% did not complete the course.

How many people finished the marathon?

[: people finished the marathon.
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Unit 8: Percentages, Lesson 4

70 m
© on Mondoy. the groundskeeper —

mowed 30% of the football pitch

On Tuesday, she mowed half of
the remaining area.

On Wednesday. she mowed 100m
| 1250 square metres.

What area of the pitch was
left to mow on Thursday?

L)

[:] square metres of the pitch still needed mowing on Thursday.

Show two different ways to find 85% of 300.
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Percentage of Q)

Unit 8: Percentages, Lesson 1

0 complete these percentages
a) 80 C] 60 e) Q
L L
r ]

[—

?

sowof8ois(__).  2s%ofeois( ). 10% of 4801is ().

b) 80 ) 25%of 600is(__). ) 10%of 48is

25% of 80 is

©) colour the grids 50% yellow. 25% red and 10% blue.
a) b)
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unt s prcentages, Lesson 1
©) colculate the amount of money taken off each item.

a) L)
£24 9 £25 o

10%

O

50%
off

b) d)
£30 o £2250 ©

O o Emma bought 2 kg of fruit. 25% of the weight was pineapple.
10% of the weight was bananas. The rest was apples.
How many more grams of apples than bananas did Emma buy?

Emma bought [:

b) Aki bought | 1 kg of vegetables. 25% was potatoes.

more grams of apples than bananas.

Bella bought 3} kg of vegetables. 10% was potatoes.
Who bought more potatoes?

&

bought more potatoes
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© Find the percentages.

so%ofso=(_ ]
sowofs=(__)
so%ofos=(_ )

25% of 50 = D
2swofso0=(__)
25% of 1000=(__]

cinema. How much money does Richard have left?

O richard has £40. He spends 50% on Saturday. On Sunday he
spends 10% of what is left. On Monday he gives 25% of the
remaining amount to charity. He then spends £575 at the

Unit 8: Percentages, Lesson 1

10%of30=(__)
0% of(__J=30
0%of3=(__)

Richard has £ ] left

Create a diagram to show
how to find 10% of any
number. Explain what
you did.

A )

To find 10% of a number
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Unit 8: Percentages, Lesson 2 > Textbook 68 ps2

Percentage of @

) complete the two methods for finding 20% of £40.
40 £40
o L h

\

w:s=_] 10%of £40= £

20% of £40is €] P
=

€ shade 20% of the circles. O O
20%of(_ )=

©) ©xplain Zac's mistake. Use diagrams to support your explanation. @

To find 10% of @
number, I divide by 10.
So. to find 20% of a

number, I divide by 20.

o)
N
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Unit 8: Percentages, Lesson 2

© complete the table

Starting number 10% of the number | 20% of the number

© o) Ambika takes port in a 24 km cycle ride. She has completed 20%
of the journey. How many metres has she cycled?

24 km
r . 1

20% of 24km=(___Jkm
Ambika has cycled C] m.

b) A football crowd is made up of 52,000 fans. 20% support the away
team. How many fans support the away team?

CJ

r J

T —

39

18:30
30/01/2022





image6.png
/AL Year 6: Practice Book B - Google Chrome

(m] X
@ resources.activelearnprimary.co.uk/epub/platform-player/indexhtml?activeTextPlayerResourceld=240371&resourceld=1087982&resourceTitle=Year%206%3A%20Practice%20Book%20B&activeTe...

Unit 8: Percentages, Lesson 2

0 A chocolate bar weighs 400 g
20% of the bar is cocoa and 25% is sugar.

@) How many more grams of sugar than cocoa are in the bar?

There are () g more sugar than cocoa in the bar.

b) Andy eats 4 squares from the chocolate bar.
How many grams of cocoa has he eaten?

Andy has eaten (] g of cocoa
Reflect

Lexi says that if she knows 10% of an amount, she can work out any other
amount. Is she correct? Explain your answer.
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